§

EOE (2)  s=1:500

HARA

%
e%\,d

ot m

i
AR

3
NO. 640+16.5
|

AEIBEE

1-2BURABT  L=28. dn

L=21.6m 1-2BURIKHET g 2BURIKBT L=36.4n 4BERT
L=4.0m L=6.8m
1 L

28#y 58— L1=20.5n Hys—
28 EH n=1. 0B 1SEET L=4.0n L=7.dm

| == —

18Ays—  L=35.0n  IBGiEM =208
TBERT L5 80

e > BHI| Pt B

hifeallk: g

NO. 560+13.5
NO. 560+16.9
NO. 640+14.7
NO. 640+16.3
N0 640169 153
NO. 680+13.9
NO. 680+18.6

19.3m

€ exyem
po B I
2

R L=12.7Tm
KigE L=

n
p-3

&

AR T b L=50_0m
'+ AW/3=40x4.10/3-54. 7> 35m)

Rl

HARBXAE- - 1
BRtRFXA--- #HB
KEARE - FERMR
ZOMERRE - FZERE

\\ U T ———
‘.,, Vi
cenn Y

FoR 27 & E AR
RERTIERAR

0.341 |

. 0.000
2-35-30 50.470 -1
1000.000 | 1000000 | T. |  45.241 | 45.241 - ~
45,235 45,23 503 | 4523 ¥ & @
0,085 0,085 22 624 4 1:500 ‘@ﬁ&g
22,617 22,617 212,686 | 212 686

45.233 45.233 | G R 3 A B

F)IIR BN AREBH




